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linux/fs.h
static inline int register_chrdev(unsigned int major, const char *name,
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10 major O 0O 0O O
a) Jdoooooo
Documentation/device.txt
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b) cat /proc/devices
c) OO OOO :mknod /devitest c 241 0
crw-r--r-- 1 0 0 241, 0 Nov 17 2013 /dev/test
200 name 0 [
namell] 00000000 charrUO00O0O0O0OOOO cat/proc/devices
oooo .
30 fops OO OOOMO
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Ooooooo
400 0 0O O O
allddoooooo
b.0 O make
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c. arm-none-linux-gnueabi-gcc -0 app app.c
HRERERERE
aldodoooooo
# insmod led_driver.ko
# mknod /dev/led ¢ 249 O
# .Jappon ledd O
# .Japp off led [
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5.1 Android 0 O [

Android0 00O 0 Eclipsel DO O OO0 Javad D OO0 OO0 OoO0oooodo
oodddoobouboobooddoboodn
public class MainActivity extends Activity {
private EditText editText _name;
private EditText editText _pwd;
private Button button_login; //
private Socket clientSocket;
[/ DOo0000o00oooouoodo
private Handler mHandler = new Handler() {
/0000
public void handleMessage(android.os.Message msg) {
switch (msg.what) {
case Ox11:
/O0o00doodo
String buffer =(String) msg.obj;
/OO0 uU0od
Toast.makeText(MainActivity.this, buffer,
Toast.LENGTH_SHORT).show();
break;

default;

break:



@Override
/O000o00oododoooooooooououo
protected void onCreate(Bundle savedinstanceState) {

super.onCreate(savedlnstanceState);

[/ 0000 Activity D OO OO0
setContentView(R.layout.activity _main);

1. D000 0O000ooooo0 Jdood
editText_name = (EditText) findViewByld(R.id.editTextl);
editText_pwd = (EditText) findViewByld(R.id.editText2);
button_login = (Button) findViewByld(R.id.buttonl);

/2. D000 0OO00OO00O00O0O0O0O0OO0O0O0O
button_login.setOnClickListener(new OnClickListener() {

@Override
[/ 0000000000000 00000000
public void onClick(View v) {
1. 00000000
String name = editText_name.getText().toString();
String pwd = editText_pwd.getText().toString();
/2. OO0OO0OO0O0O 00000000 ,000000

new Thread(new ConnectionThread(name,pwd)).start();

}
D;

}
/0ooog

public class ConnectionThread implements Runnable {
private String name;
private String pwd,
/0000
public ConnectionThread(String name,String pwd) {
this.name =name;

this.pwd =pwd,;



}
@Override
[/ ODOO0O000

public void run() {

try {
1. O0O000O0O00O0O0n0

System.out.printin("---0 0 000000 -->>";

clientSocket =new Socket();

clientSocket.connect(new InetSocketAddress("172.20.135.6",
7775));

2. 0000000 ooon

OutputStream outputStream =clientSocket.getOutputStream();

InputStream inputStream =clientSocket.getinputStream();

/O0o00doodoooood

BufferedReader bufferedReader =new BufferedReader(new
InputStreamReader(inputStream));

/3. 00000000

readMsgServer(bufferedReader);

4. JO0o0oooon

writeMsgServer(outputStream,name,pwd);
/5. 00 000000000000
readMsgServer(bufferedReader);
IlwriteMsgServer(outputStream,"on");
outputStream.write("on".getBytes(),0,"on".length());
outputStream.flush();

} catch (IOException e) {
// TODO Auto-generated catch block

e.printStackTrace();



[/ 0D0000oo

public void readMsgServer(BufferedReader bufferedReader) {
String line="";
String buffer="";

try {
/U0 000000

while((line=bufferedReader.readLine())!=null){
if(line.equals("start") {
continue;
}else if(line.equals("end")){
break;
telse{
/O0000o
buffer =line+buffer;

[ISystem.out.printin("---->>"+buffer.toString());

}
[/ 00000 uigdoooooon vigod

Message message =Message.obtain();
message.what =0x11; /00000
message.obj=buffer.toString(); /00000
/oooo
mHandler.sendMessage(message);

} catch (IOException e) {
// TODO Auto-generated catch block
e.printStackTrace();

[/ 0000000

public void writeMsgServer(OutputStream outputStream,String name,String



pwd) {

try {
00000

outputStream.write(name.getBytes(), 0, name.length());
outputStream.flush();
(/0000
outputStream.write(pwd.getBytes(),0,pwd.length());
outputStream.flush();

} catch (IOException e) {
// TODO Auto-generated catch block
e.printStackTrace();

}
5.2 Ubuntu I [0 O

UbuntuD OO OO0 O0O0O0O0O0OO0OO0OO0 0OO0OO0O0OO0O0OO0 O0O0O0O00On
Joddooodd codtddooouoodooooud dudoooouodno
00

void *do_ client(void *arg);

int main(void)

{ intret;

int servfd;

[*1.0 U socketl] [ [ */
servfd = socket(AF_INET,SOCK_STREAM,0);
if(-1 == servfd)
{ perror("socket");

return -1;

}

rFOOOO0OO0OO00 ¥
struct sockaddr_in servaddr;

memset(&servaddr,0,sizeof(servaddr));



servaddr.sin_family = AF_INET; //ipv4
servaddr.sin_port = htons(PORT); //0J O [
servaddr.sin_addr.s_addr = inet_addr(SERVIP);l/ 0 O O O
socklen_t slen = sizeof(servaddr);
F2bind ODOOOO0OO ipUOOOOOO *
ret = bind(servfd,(struct sockaddr *)&servaddr,slen);
if(-1 ==ret)
{ perror("bind");
return -1;

}
MF3isten DO0OO0ODOO ,00000000 100%

ret = listen(servfd,100);
if(-1 == ret)
{ perror("listen");
return -1;
}
int newfd;
pthread _t tid;
while(1)
{ Maccept UUDUIODUOOODOOUOOOOON
Joooooooooooooao
newfd = accept(servfd, NULL,NULL);
if(newfd < 0)
{continue;}
printf("==>%d connect success...\n",newfd);
rFOO0O0O0OO0OO0OO0OO0O0O0 *
ret = pthread_create(&tid,NULL,do_client,&newfd);
if(0 = ret)
{ perror("pthread_create");

return -1;



pthread_detach(tid);
}
close(servfd);
return O;
}
void *do_client(void *arg)
{ intnewfd = *(int *)arg;
char buf[BUFSZ] = {0};
int ret;
char *str = "have a try and you will go far";
while(1)
{ r5.00%
memset(buf,0,sizeof(buf));
ret = read(newfd,buf,sizeof(buf)-1);
if(ret > 0)
{ printf("readdata: %s\n",buf);
AFOO0O0O00O000 ¥

write(newfd,str,strlen(str));

}
pthread_exit(NULL);
}
5.3 Ubuntu 0O O [

UbuntuO DO O0OO00OO0 Androdd00O0O00O000O00OOO0O0OO0O
OJO0000 COdO Ununu OO0 O0oO0ooooodoD oooooooooao
HEERN

int main(void)

{

int clifd;
int ret;

char buf[BUFSZ];



/1.0 O socket] O O */
clifd = socket(AF _INET,SOCK_STREAM,0);
if(-1 == clifd)
{  perror("socket");

return -1;

}
FOOODODOO0OOOO ¥

struct sockaddr_in servaddr;
memset(&servaddr,0,sizeof(servaddr));
servaddr.sin_family = AF_INET; //ipv4
servaddr.sin_port = htons(PORT); //0J O [
servaddr.sin_addr.s_addr = inet_addr(SERVIP);l/ 0 O O O
socklen_t slen = sizeof(servaddr);
[*2.conenctl] OJ OO */
ret = connect(clifd,(struct sockaddr *)&servaddr,slen);
if(-1 ==ret)
{ perror("connect");

return -1;
}
struct pollfd pfd[2];
pfd[0].fd = O;
pfd[0].events = POLLIN; /000 0O O

pfd[1].fd = clifd;
pfd[1].events = POLLIN; /00O 0O O O
[*3.0 0 */

while(1)
{ ret=poll(pfd,2,-1);

if(ret > 0)

{fododoooooodgao

If(pfd[0].revents == POLLIN)
{ rrFOO0Oooooog ¥



memset(buf,0,sizeof(buf));

ret = read(0,buf,sizeof(buf)-1);
if(ret > 0)

{write(clifd,buf,ret);}

If(pfd[1].revents == POLLIN)

{ rFOUOoooooga *
memset(buf,0,sizeof(buf));
ret = read(clifd,buf,sizeof(buf)-1);
if(ret > 0)

{printf("serversay : %s\n",buf);}

}

else

{ FOO0Ooooo *

break:

}

close(clifd);

return O;

}
5.4 Linux OO0

int main(int argc,char **argv)
{ intfd;
if(argc < 2)
{ printf("Usage: on/off\n");
return -1,
}
fd = open("/dev/led",0_RDWR);
if(fd < 0)



{ perror("open”);
return -1;

}

if(Istrncasecmp(“on”,argv[1],2))
ioctl(fd,LED_ON);

else if(strncasecmp("off",argv[1],3))
joctl(fd,LED _OFF);

return O;

}
5.0 LED 0O 0 O [

LEDOOOOOOOO CPULDLDUOOLOOOOOOD LEDODODODODODOO
oo oonnddnn

#define GPG3CON (*(volatile unsigned long *)0xE03001CO0)
#define GPG3DAT (*(volatile unsigned long *)OXE03001C4)
int main(int argc,char **argv)
{ led_init();

led_flow_ water();

return O;
}
void led_init(void)
{ rFUOO00OO00O0O0 [15-0]1000 ¥

GPG3CON &= ~(0xffff << 0);

[*Oledl,led2 GRPJI2CONDJ OO OO OO *
GPG3CON |= (0x1111 << 0);

}
FOOD0O ledd

void led_on(void)
{ FO0OOOO0O0O0O0 GPI2DATUOOOOOO ¥
GPG3DAT |= Oxf<< 0;

return O;



0000 ledd ¥/

void led_ off(void)

{ rFUO0000O0O00O0O0 GPI2DATUOOOOOO *
GPG3DAT &= ~(0xf<< 0);

return O;

}
rFOOOoO0 *
void led_flow_ water(void)
{ FO00OO0OODO0O0O GPI2DATLOOOOOOO *
unsigned inti = 0;
while(1)
{ GPGS3DAT |= (1 <<);
I++:
if(4 ==)
{i=03}
mydelay(500000);
led_off();

}
FOODOOODOO0 ¥

void mydelay(unsigned int n)
{ inti

for(i=0;i<n; i++);
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